normalized x?

[[normalize

d x probability ]

107}

Zopam.sn smsemwmanspen o wpe - -
AAR AAMM MM MAAN A p &

Entries
.| mean
Std Dev

Hi"]

e
-y

16 18 20

0 2 4 6 8 10 12 14

XZ

Entries
Mean
Std Dev.

e
Hildi

\n e uh\
0.7 . 1

Prob(xz)

|”|nl |‘m‘|}|\ T
il

mmmm= DQM_TT_original
s DQM_TT__mod_modelsdeep_truthfinal_reg_model TEST-24
wmmm= DQM_TT__mod_modelsdeep_something3

3
TP n (PCA to beamline)

A2 = 5
- B E
2 A 4F
~ - E
> = gf
\ Q»— E
o 25_
\ 1;_
_12_
_22_
_32_
,42_
2 o 5
T g 2
84 14
H
of
A A E
2 2 18f-
< % 1.6F-
\ v E
1.4~
1.2F
1
0.8F-
0.6F-
0.4F
0.2F
o o QF
T 3
v @
0.5
C—S
10
G
~ 4H
o of
S
o F
o 2H
\2 E
H
_lz_
o 2 y ]
g sk} o T 4T -FAFFH
@ LTI 1
0.5—-T--; l
) i
107 1

1072 107
AR(track, jetg)



	Contents
	Page 1


